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— ~ The triangle wave generator shown in Fig. 2. consist of two identical operational

2 e ampliers’ whose saturation output voltage can be expressed as ¥, , =(su ltage) -
RATHEA] OB REHE EHRA L Fk o ts s aay TR presset s Ve =(uppyvelogs
111 E% ':.F‘ % :‘;ih % " 1. Find the waveforms of the output voltages 7, and ¥,, ,if switch S, is kept

closed and switch S, open Draw the waveforms to the same horizontal time-scale.
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o A B IE %—H o RZH Determine the qositive negative peak values’and the frequency for ¥, (10 %)
2. Repeat(1), if S, is kept open while S, closed. (10 %)
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— ~ Using the simple constant-volage-drop (0.7V) for each of the diodes, find the transfer — 5V Voz
characteristic of the circuit shown in Fig. 1. 20 %) N4 S1 \s2 -18V
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= ~ 1. For the fad back network shown in Fig. 3 find the transfer function ¥,/V,. (6 4) V,(s) -S/RC

P4 ~ An active RC Band-pass filter as shown, verify -2

2. This network is used with an AMP to form an oscillator. Find the frequency of V. (s) §? 4 ( 2 ] 5. 1
oscillation and the minimum amplifier gain. (7 4*) R,C R'R,C?
3. Draw the network connected to the OP AMP to form oscillator. (7 %) :
. RR,
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7. ~ For the circuit shown below, find Z, =7 (20

&)

Z1

Z3

I
m

AMAAMAAN,

Z4 Z5

are ideal)

{Assume all op-amps
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